Craven Equipment

Inspired by Adventure Built for Everyday

Bike - AMC, 31/G11/G12CSR 1960-62

The correct rack for these bikes is a ‘D’ rack for topbox only, or a ‘W’ rack for the
option to hold panniers

There are two fitting kits for this setup. The first kit is used to fit the rack to the bike and
does not have provision for holding panniers. The second kit is additional to the first and

contains the extra parts needed to fit the panniers. This second kit is currently under
development, please contact us.

Included in the fitting kits:-

Main fitting kit

| Part Number | Quantity | Description |
P484 4 Straight leg 5-5/16 centres

P428 8 Tube clamp, halves, 3/4 or 5/8 tube (2x8mm holes)
FA1476Q 8 Set bolt, M8 x 20, stainless steel

FA1477Q 4 Set bolt, M8 x 25, stainless steel

FA1530Q 12 Nyloc nut, M8, stainless

S$19-3Q 12 Plain washer, 5/16, stainless

P506 2 Straight stay, 7-3/4" centres

Pannier fitting kit
Under Development

Fitting the rack:- Specific notes about your kit

Main kit
Attach the 2 straight supports (P484) to the rear 2 holes that are in the flat rails
within the rack. The rear of the rack is the end which narrows. Now attach the 2
other P484 supports and also the P506 to the front mounting holes. This will give
you 4 ‘legs’ that the rack will stand on. Tighten the 4 bolts so the support arms are
not loose. Now mount the tube clamps around the frame rail which runs along the
top of the mudguard. You should mount the front 2 P484 support legs on their own
however the rear P484 support legs should also be clamped with the longer P506.
This will mean that the support arms will create an N shape when looking at the
bike from the left hand side. Now tighten up the bolts with the rack in the desired
position.

© Craven-Equipment.co.uk 01986 891096 contact@craven-equipment.co.uk



Craven Equipment

Inspired by Adventure Built for Everyday

Fitting the luggage:-

See ‘General Fitting instructions’ for step-by-step advice for fitting a rack and panniers to
any machine.

£

Fig 1(gold spacer & bike not included) | Fig2 (left) Fig 2a (R, top) Fig 2b (R,
bottom)

Fig 3

© Craven-Equipment.co.uk 01986 891096 contact@craven-equipment.co.uk



Craven Equipment

Fic7 Fic 8

© Craven-Equipment.co.uk 01986 891096 contact@craven-equipment.co.uk



